N & o & AF & H Al A
20198 & =0la LBl =S
SN 28S
M 2 MY
Sl HHEXME HA2Y o HOAL X (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
E8s 462,895 473,344 A 10,449
E8S AMZ 357,075 324,556 32,519
HEFXNHUH HA2E 2 BEYAME X3 145,376 162,036 A 16,660
FOURMXNEEH 29 79,300 89,300 A 10,000
201 L2l 16,300 16,300 0
01 At 22l 15,300 15,300 0
OUEHZY LEt==EH| 6,300,000 6,300
OfIa=¢ 30,0003 25 x12& 9,000
02 2324l 1,000 1,000 0
OA&ZEH ®Xdl 1,000,000 1,000
301 L2 A3 63,000 73,000 210,000
09 EALAHIE &S 3,000 3,000 0
OFCUXXEE HF3Es &£ =XNXSH 2
(131) 100,000& »25H 2,500
FUXMXNEZDSY 22 500,000& 500
12 JIEtE4 S 60,000 70,000 A 10,000
OZ A== 60,000,000 60,000
FOEOAL XA 48,076 72,736 A 24,660
201 Let2d] 34,576 34,636 A 60
01 At 22l 7,196 7,256 A 60
OEAMBUAIHAIAYE 292 220,000& 128 2,640
O AMLEAL HHH| 2,000,000& 2,000
OXtEed)| otdzte Hdexra
88,000& x12& 1,056
O&2 2LHH A 250,000& +6CH 1,500
02 =24l 27,380 27,380 0
OXgeAy & 22 (3U) 13,000, 000& 13,000
O&EAMAZHI 4,000,000 4,000
OF AL XIHI 8,000,000& 8,000
O&stx =HE 400,000& 400
OdelHlole |XE==tl 165,000& =128 1,980
203 R =&l 3,000 2,500 500
03 A Z=XH R =AY 3,000 2,500 500
O=8s SEIRAMFA 3,000,000& 3,000
401 Al HIZ 201 8] 10,500 18,000 A7,500
01 A& HI 10,500 18,000 A7,500
O=22 AHAE WH 10,500, 000& 10,500
ARlste stOtS M= 2l 18,000 0 18,000
201 Let24d] 18,000 0 18,000




SN 28S
HM: =2 ES AEAHH|
Sl HHEXME HA2Y o HOAL X (ol @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
03 A2 I 18,000 0 18,000
OABglgtset stitEe dMsUal 18,000,000 18,000
S ESE A 147,200 143,420 3,780
St SE AR 147,200 143,420 3,780
301 LEtE A= 147,200 143,420 3,780
05 S& -0 -t ESEAZ 147,200 143,420 3,780
Os&dsd 200,000 x40H x12& 96,000
OsSHANH= 200,0008 *40H *23| 16,000
Os&F &AL 20,000 x40 x 128 23| 19,200
Ot &= 50,000 *320H * 13| 16,000
ZAEs X2 2 62,099 17,000 45,099
s S 32 22 62,099 17,000 45,099
101 e1214| 26,674 0 26,674
04 J|I2ZtHIZ22NEES 26,674 0 26,674
OZAS=2XN 32 FAIZE IR (AED])(1Y) 13,337
-2=0 1,745,150 x6& 10,471
-AN 22 LG 13,335% x22A| 2H*x6& 1,761
AR asEIISY 71,120 6 427
-MEel= 112,860& 6 & 678
OZd=s=2X a2 FAI2e e (steHI])(1Y) 13,337
-2320 1,745,150 x6& 10,471
-HAZ224E 13,335R %22 A| 2t x6& 1,761
-A XRS5 71,120& 6 427
-MEo= 112,860& ~6& 678
201 gEt24dd| 13,425 17,000 N3,575
01 AP 22| d| 1,425 1,000 425
OFxD| dx= 625,000 625
OR0AHHAAE 292 800,000& 800
02 2224 H| 12,000 16,000 A 4,000
OZdsEXg & KX 12,000
M2 7,000,000& 7,000
Aol € oY 2= 100,000 100
-ABIEE R2 1,600,000 1,600
-E AR X Hl 3,300,000& 3,300
401 Al HI L 2T 22,000 0 22,000
01 Al&EH| 22,000 0 22,000
O&AsS U=2SHF 2 Gl== HHl Z2AF
22,000,000 22,000
=S SA g =X 2,400 2,100 300
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